2 VirtualBox

G20l = 2020 712 Leader
Virtual Desktop

Infrastructure Report 2020

0| A VirtualBox=
MERXIZE HUSL|LCT.

QEt2 Y U K|S HET HUB
HELIE| 8047} s QF AA Jhats}
AT EQ QLT

A H|XI=0]
VirtualBox! & fls}=
Ol = Yot M 2!

Virtual Desktop Infrastructure(VDI)A| CHSt Grid®

100

7

cifrix

4 75
aws ﬁgﬁ —
cifrix vmﬂre
HE 02
O \'4 ﬁ 50
| {0
o

O
nerd 9ZiG

75 100

M S

s

LS

96%

O| AF2 X}t Oracle VirtualBoxOi|
408 EE=5.089 WHS
B &L|Ct

VirtualBox

I  91%

Workstation Pro

Fusion

~ A HAS HIE HA 2T EQ|0] HIAE
HAE Al = AN EAXSLILCE
VirtualBox= X|7F AFE5t= MacOi| A
Windows 411 5 &otA| 2=3 10
HAEE o =2 SIEQ0{E SO
LIt iU SLCE

- 62 2|70,
I HEE ATES0 ¥4, 5.0H

VirtualBox

I 887

Workstation Pro

Fusion

215t S K| Mo ZHA

U[A EotF&=

ICt. CE 2GH|HIS
Hip{& 2 e o X UL 90|
VirtualBox 2 7|4 AX|5t10 HX 2tololf =
2= Ao{A ol x=2=H0| EQUSL|CI. &£
OtE 20| = O E2|AH|0| S FHE gt )
OIEZ20|E JHAl 717| E Aldieh £~ Q0| A
S85t £710|7| gL|Ct O E2[#|0][ M 0|

o
theob 1l AFE 0| E& L.

I = 24Ol

-62 2| /01, 4.08

VirtualBox

I 917%

Workstation Pro

Fusion

VirtualBox= Z|119| 71ds 2E S8 M F
OILILICE. @E AA AT EQ0{0|H

DE MES 2F AN 2f o Z2[AH| 0] M Hif &
HAES & + U= 4ot = LCt
ot Ho| E= 2B M[A|(Windows, Linux,
0s2), OpenBSD X SolarisOf| A Alstigh 4
UASLICH &S| A0/ €l H Hol
SEI0O= VI HAS My

= 1 =
QA& L.

- 62 2| /0, 4.5F

FH ks

VirtualBox

I 897

Elé Workstation Pro

Fusion

VirtualBox= M &S 7t4telolal Ct= 1t
~ &2 Ciefst 2NN E ddot= o
O|AE{ol HZQILICE. Linux HEE,
C}2FSt X 9| Windows, Mac S. 2]
AAEI2 ALE 0| £ 11 o|Of x| EX|7}
bitSL|Ct USB 3.0 X| & = Ef2lSHH
SFHHO| S2LLICE. VirtualBox2
AREOM o2 2SHHE AL =
oM M5 HIAES AlLlstD 3
AIARIO|LE CHE AIARIOIM O
A=st= a2 80| 7152 Htet &
QLELICE VirtualBox0fl= ZH </
AEXF HRLIE|ZL QO ZH|Z s EoSH=
O =22 82 £ 11 OpenSources=
F=0[E2 Hot=hE HE0|
IS & LILCE.

> o

- 62 2| /0], 4.08

~

AtMIo] 2Ot Y|

€

CIO|E £X £ 20204 7} Virtual Desktop Infrastructure(VDI)0|| CHS Grid® H11A{

| G20i M= O Lt2 0l 2T S O[Z0{Lt77| 2ol W2t 2 o[ &2 AR 2| RE

, FXIAL, Of 22| A BTt AO|EE O| 83l IO 272 &4 H|0|E F&tof 2t
R QAOIES

sloja0 T dn FHES = lSLICtH

Mt BE = 62.comOi| A Zrl5HM| 2.



